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@® 4x+2x=3x+5x @ 5x-3=x(x—4)
@ 2x+4-3(x-1)+4x @ 2x+3=2x(7T-4)

® 3(x-3)=2(x-2)
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® 4x+3=5(x-3) @ 4x+3=3(x+3)
@ 4x+3=3(5+2x) @ 4x+3=3(5-2x)

® 4x-3=3(x+3)
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@ Bx+2)+(x-1) @ 3(x—1)=3x-3
® 2x-3 @ 0

B 2x+4 =6
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@ 0.3x-
@ 2x-1=5[3]

—(x+4) [-5]

® x+6

@ 6x—10=2x+6 [4]

® 2(x+1)-3=-3x-6[-1]
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@D a=bOolHa-1=0p

© a=bOlH3a+1=U

© Phb, HH3b-1 @ Oh3+b,Lh2b
@ b-1,h3b+1 @ Phb+3,Lh3b-1

® Wb+1,Lh3b+1



10.

e AN £ o, o BN A T 55
g o =
zto] sfje] sists 242 ol B Al 5 3
gt Y stof et 9} =
0 F
1 <
2 3t
1 1 5 1
@) %x % G © %x 1
X
Zr__-_Z= = 1=- 1
© ?x c 12 1 ® 5x+ 5x+
C|




stofzt,

_ZF_

S
=

) {14 xo 2

2(1-x




%1 ‘].1:1]—7(4 /UQJ 32%

o o 1

@ EA hee aFE x o] A o2 yehdn

o
He
u)

©)
@ g4
©)



i

(HF,a>0)

® +6

@ +3



14.

e SA A BE 3 2 ol AS A=W

2x+ 4 =10-4x
@ 2x+4x=10-4 @ 2x-4x=10+4
® 2x+4x=10+4 @ 2x+4x=-10-4

B 2x—4x=10—-4
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A= o,

2x— {3+ (3x-4)}

=6(x-7)
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